PURBANCHAL UNIVERSITY

» 2018
B.E. (Computer)/Fourth Semester/ Final ,
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32

BEG276CO: Database Management System (New Course)

Candidates are required to give their answers in their own words as far
as practicable. .

All questions carry equal marks. The marks allotted for each sub-question

is specified along its side. :

Answer EIGHT questions. : 8x10=80

1. Explain E-R model, design E-R schema for bus ticket
reservation system and also convert it into relational model
[note: mention the assumption made for this design]. 4+4+2

2. What is Database Management System? Explain the system
architecture of Database management system with appropriate
block diagram. 2+8

3 (a) Explain briefly about Physmal and Logical Data Independence 4

(b) Discuss advantages of DBMS over conventional Data processing
file éystem ' 6

4, Consider the schema given below and Wnte the relational

algebra for the given scenarios. 2x5=10

(i) Employee{employee._id,first_ name,last_name,email,phdne_number,

job_id,salary,department_id)

(ii) Departments(department id,department_ name,,locatlon id)

(iii) Locations(location_id,street address,postal code c1ty, state,

. country_id) :

Wrzte Relational algebra to:

(i) Dlsplay name, address and their department 1d whose

salary is greater than 6000. '

(i) Find location id which has all the department name.
(ili) Increase the salary of '‘Ram’ by 15 percent.

(iv) List employees email, phone number whose department‘
‘postal_code is 'KTM44604'.

(v Find the largest salary vnthout using aggregation
' functlon . =

fnond 2
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' (2)
f{a) With relevant example- explam 1NF,2NF,3NF and BCNF.

(b) What is functional dependency? What are the two set of
functional dependencies? How can we determine their
equivalence? 4

6. Discuss about query processing and query optimization with
~ | suitable diagram and examples. - 5+5
7. Why -concurrency control is needed in Transaction

“  Management? Describe Two Phase Locking Protocol (2PL) over

Slngle phase locking mechamsm with necessary example

~explaining its advantages and disadvantages 3+7

8(a) Discuss about different types of failures. - 2

4
'(b) Define schedule, serializability and also check whether the
" schedules sl and s2 are conflict serializable or not: 8

S1: R2(A); R3(C); W3(A); W2(A); W2(B); W3(C); R1(A); R1(B); W1(A); W1(B)
S2: R1(A); R2(A); R3(A); W(A); R2(C); R2(B); W2(B); W1(C)

6

9(a) Explain about collision resolution technique used in hashmg 6 W

(b) ”Explam memory hierarchy with diagram 4

: }O(a) What is distributed model? Explain lag based recovery with

example:-- 1+4
(b) What is ORDBMS? Explam different levels of security in
database. 1+4

A
A
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| BEG276CO: Database Management System (New Course)

PURBANCHAL UNIVERSITY

2017
'B.E. (Computer}/ l“ourth Semester/ Final
Time: 03:00 hrs. | - 'Full Marks: 80 / Pass Marks: 32

Candidates are required to give their answers in their own words as far
as practicable.

All questions carry equal marks. The marks allotted for each sub-question
is specified along its side.
Answer EIGHT questions. 8x10=80

Ll(;l/Deﬁne data, database, database system and DBMS. Explain
how 3 schema architecture ensures data independence and data

‘abstraction. _ 2+3

\(y 'Differentiate between procedural and non-procedural database
language. 3

2. Draw an ER diagram for keeping track of information for an art
museum, , the requirements of which are as follows (Make
reasonable assumptions if required). v 10

« The museum has a collection of art objects. Each art object
has a unique Id, an Artist, a Year when it was created, a
Title, and a Description.

« Art objects are categorized based on their type as painting,
sculpture, and statue, plus another type called other to
accommodate objects that do not fall into one of the three

main types.

» A painting has a paint type, material on which it was drawn
on, and style.

* A sculpture or statue has a material from which it was
created, height, weight, and style.

e An art object in the other category has a type and style.

* Art objects are also categorized as permanent collection,
which are owned by the museum (these have information on
the date acquired, whether it is on display or stored, and
cost) and borrowed, which has information on the collection
(from which it was borrowed), date borrowed, and date

returned.
Contd. ...
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(2)

The muscum keeps track of artist's information like name,

and description. The name is assumed to be unique.
Different exhibitions occur, each having a name, start date
and end date. Exhibitions are related to all the art objects
that were on display during the exhibition.

Information is kept on other collections with which the
museum interacts, including name, which is considered to
be unique, type, description, address, phone and contact

person. .
1+1+1+1+1

3(a)”” Write SQL for following queries on schemas as:
Employee( ssn,name,address,salary,age,mgrssn,dno)

(b
1(a)
(b)

b)

Department( dno,dname,location)
Project(pno, pname,plocation,manager. —_name)

Works( ssn,pno,work hours)
(ij Write DDL statements to create Employee and Works

relation
List all the employees who live in Bhaktapur and work in

(ii)
Construction department.
(iiij Count the number of employees working in ‘Ring road

project’;
(iv) Insert new employee in Civil department.
% salary for all employees who work for 1-IRM

(v) Increase 20

department
Explain the importance of DBA. 5
Discuss inference rules for functional dependency. 5
or {A} & {BC} for following

Compute closure set of attributes fi
3+2

relation. Also compute minimal superkey for this relation.

R(A,B,C,D,E)

FDs: {A-~B, C-D, C-E)
What are the purposes of normalization? Describe join
2+3

dependency.
Normalize Normalize following schema of course registration by
' 5

mbrrAdant intn INE

date of birth, death date, country of origin, epoch, main style

(3)
Studcnt(sno,snamc.saddress,pno,pname,pduration,
{cno,cname,crcdit})

’ FDs: { sno—sname,saddress, pno
pno—'pnamc,pduration
no—cname,credit
6(4) Describe the need of query optimization. __
(b) Whatis buffer replacement strategy? How to detect and resoul
2+

ash collision in file organization.

‘Mhat are the properties of Transaction? Why do we nee
concurrency control techniques? <2+

Explain how Two phase locking protocols ensures serializabili
but not deadlock cases.
Test serializability for given schedule. Also write equivale

8.
serial schedule.
T T2 T3
R . Read (Y)
Read (Z)
o ~ " Read(X)
Write (X)
Write (Y)
Write (Z)
'Read (Z)
Read (Y)
Write (Y)
Read (Y)
Wite (Y)
Read (X)
Write (X)
9(a) What are the types of failures? Differentiate deferred update «

immediate update based recovery techniques.

(b) What is write-ahead logging protocol? What are the advantat
shadow paging? 1

Leaad
vy
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PURBANCHAL UNIVERSITY
2016

B.E. (Computer)/Fourth Semester/ Final
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32
BEG276C0O: Database Management System (New Course)

Candxdqtes are required to give their answers in their oum words as far
as practicable.

All guestions ocarry equal marks. The marks allotted for each sub-question
is specified along its side.
Answer EIGHT gquestions. 8x10=80

1.

Explain the importance and neceds of DBMS. Describe few
characteristics of modern database approach that differentiate it
from traditional database svsiems,

Write down the importance of CREATE, ALTER and DROP
statements in SQL. Explain using examples the following
operators.

(i) IN-NOT IN

(ii) BETWEEN - NOT BETWEEN

(iii) LIKE - NOT LIKE

What is the significance of ER diagram during conceptual

database design? Construct an ER diagram for a car insurance
company with a set of customers each of which owns a number

of cars. Each car has a number of recorded accidents associated
with it. Make any additional assumptions if required. .

Why normalizing a relation is necessary? Explain with example
the process of normalizing a table to second and third normal
forms. How does 3Nf differ from BCNF?

What do you mean by concurrent execution of transactions?
How does two phase locking protocol handles concurrent
execution? Explain conflict serializability of schedules.
Explain how integrity constraints help in securing a database.
Discuss referential integrity constraints. Differentiate between
mandatory and discretionary database access control mechanisms.

' Contd. ...
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Consuder the following

A . o R, ~._

(2)

EMPLOYEE table given below,

rte O ENAME TOES We_igg}nou | SALARY JCOMMISSION DEPT
(A Prakash Manager 10000 1000 101
&: k\\’\% Clerk _M-wa,.-.,“fm - B 1
| A M Saesman 8000 800 102
L}-f Ram  Pem a0 101
__3 Prasana Dl 4500 1 1o
LAS Doast Saesman 8000 8000 101
Now answer the fouomng questions: s
al Wnte SQL syntax to create the given table and insert fow

e

records i it

Wnite SQL syntax to update the salary of all thc
employvees by 10% who works in department number 101,

Wnite SQL query to retrieve all information of alll
Employees who does not have any commission.

\k nite SQL query to find the deptno and employee name of

all Empioyees who work in the same department in which
employee ‘A2 works.(Assume that you do not know the
department number of 'A2") -

Write SQL query to count the distinct number of
departments in the table

Why relational algebra is known as Procedural Query Language?

Explain with example

SELECT, PROJECT, JOIN and

CARTESION PRODUCT operators used in relational algebra.

What do you mean by Database Recovery? What information is
stored in log for recovery? Explain deferred update and
immediate update recovery techniques.

Write short notes on any TWO:

545

{g} Three schema Architecture
(b} Functional dependency Vs Multivalued dependency

{c} Query optimization

Rt
A~
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| BEG276CO: Database Management System (New Course)

Candidates are required to give their answers in their own words as far
as practicable,

All questions carry equal marks. The marks allotted Jor each sub-question
Is specified along its side.

Answer EIGHT questions, 8x10=80

1 /‘” What is the difference between a database and database
N management system? For what reasons do organizations choose
to invest in database management system? _ 5+5

2. Explain the concept of data model. What data models are used
in DBMS? Discuss the distinguished features of each. 2+1+7

3. Construct an ER diagram for a car insurarr_lce _company with a

set of cu%t_grgg:s each of which owns a number of cars. Each car

has a number of recorded accidents associated with it. Alsc
converf the ER diagram into relations showing primary key and
foreign kgey} ' 10

4(a) at are the benefits of normalization in relational database
‘ \/c";}:ign? Why functional dependency is important during
| normalization? 2+3

(b) Consider the following relational schema:
\,,{ '-‘EXplain how fd2 and fd3 violates the definition of second normal

F

form. Convert the given schema into 2NF. S

RollNo | BookNo | IssuedDate StdName | StdFee | BookName

A AN A Al

fd1 |
fd2

fd3

‘Contd- dee
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(3)

tween wait-die and woun

(2)

j/ Consider the following two tables: | (b)  What is deadlock? Differentiate be
EMPLOYEE . o : wait schemes. b
[Iflff‘).‘.l. _ename_|commission | salagy | deptno 9.  Write short notes on any TWO: 5+
_..}..Q..I.,.... ‘b:'lﬂ!lll# _ 400 '120000| 10 (a) Shadow paging

102 [King ' 200 10000] 10 \;BJ]"Join operation
s [ , . . { (c) ORDBMS
103 [Martin 0 5000 20 I\
104 [Kayes - 3000 20 < <
105 [Staten 0 5000 20
p—
DEPARTMENT
_Deptno Deptname DeptLocation
7’__]0 Human Resource Kathmandu
(20, [Quality Control | Biratnagar
.?_(.]___‘ l"rodnctigi_z __] Janakpur
Now answer the following questions: 4+2+2+2
(@) Write SQL syntax to create the above two tables with
px-imur}f]{é}?nml foreign | key sl‘)cc;iﬁ;d. ' . -
(b) Wrife SQL query Lo final emprio, employee name and department
name for all employees who work in department 20, °
(c) Write SQL query to display information of all employees,
whose name starts with letter 'S' or who have na any
comunission. ot .
(d) Write SQL query to display the department wise total salary
of department 10 and 20 in descending order of department
number. L ’
0. Define database security. Why security of database is more
g " jmportant in multiuser DBMS? Explain the actions that we
perform in discretionary access control to protect database. 2+3+5
i L ) '
7(:1)/['2:(1)141111 query processing in brief. 3
@“ Explain the process of buffer management. Explain the
“ gignificance of 'PIN COUNT' and 'DIRTY BIT' during buffer
management. 3+
8(a) What is two-phase locking protocol? Explain how it ensunres
serializability during concurrent execution of transactions, 1+5
O ‘(1_,‘32#
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PURBANCHAL UNIVERSITY

2018
B.E. (Computer)/Fourth Semester/ Final ‘
Time: 01:30 hrs. Full Marks: 40/Pass Marks: 16 |

BEG207SH: Applied Socioclogy (New Course)

Candidates are required to give their answers in their cwn words as far
as practicable.

The figures in the margin indicate full marks.
Group A
Answer TWO questions. , 2x10=20
1’ . Define sociology and highlight the relationship of sociology with
engineering with appropriate example.

-~

2. Define change. Discuss the factors of social and cultural

change.

3. Define conflict and state that how does the conflict help to bring
change in socio-cultural and political system.

Group B
Answer FOUR questions. 4x5=20
4, What sorts of changes have been seen in Nepalese society with

'

the advancement of new technology?

5 What is development? Mention that how is the developing
countries different than developed countries?

6 What is modernization? And discuss about the characteristics of
modernization in context of our society.

7. Deﬁx{e labor and discuss about the present condition of labor in
context of developing countries.

8. What is gender? Discuss about the gender issues in Nepal.

’ A
A
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PURBANCHAL UNIVERSITY

2017
B.E. (Computer)/Fourth Semester/ Final
Time: 01:30 hrs. Full Marks: 40/Pass Marks: 16

BEG207SH: Applied Sociology (New Course)
Candidates are required to give their answers in their own words as far
as practicable.

The figures in the margin indicate full marks.
" Group A

Answer TWO questions. 2x10=20

l/ Define applied sociology. Why sociological knowledge
beneficial for the students of computer engineering?

is

2 Define development planning. How can development planning be
useful in Nepalese context?

3. / What is e-governance? Discuss about the objectives and role of
e-governance in the process of transformation.

Group B

Answer FOUR questions. 4x5=20
/ Explain the process of social and cultural change in brief.

Why national integration is required for national development?

>
Lﬁ/ What is political power? Discuss the role of politi¢a1 power in
politico-economic system.
8

/ Explain the process of Transformation in brief.
g What are the major ethnic issues in Nepal? What solution would

-you offer to solve them? -

1Y
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2016
B.E. (Computer)/Fourth Semester/ Rinal
Time: 01:30 hrs. Full Marks: 40/Pass Marks: 16

BEG2078H: Applied Sociology (New Co:.lrsé)

Candidates are required to give their answers in their own words as Jar
as practicable.

The figures in the margin indicate full marks.

Group A
Answer TWO questions. 2x10=20
1. What is meant by social and cultural change? Discuss

technological change and its consequences in Nepal.

24 Define nation building process. How far power is important in

nation building process? Discuss.

3. Discuss the role of applied sociology in the devclopmcnt of
Nepal.
Group B
Answer FOUR questions. 4x5=20
4.  Show the relationship of sociology with engineering,.

(611

Define development and briefly discuss the indicators of
development. . |

"Migration is a process of transformation” Justify.
“Society cannot change without conflict? Justify it.

Discuss the gender issues in the context of Nepal.

© ® N o

Define flow of capital. Write about the importance of flow of
capital in the politico-economic system.

A
A
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~andidates are required to give their answers in their own words as far

15 practicable.

The fi

snswer TWO juestions.

~newar FOUFE. guestions.

v

R

figures in the margin indicate full marks.

-

Trovp 4

2x10=20
Define social and cultural change. Discuss the role of
tzchnolcgy to bring socio-cultural change in Nepal.

What do you mean by economy? Discuss its sifting process.

Whet is globalization? Discuss its impact upon Nepalese society.

Crroup B

4x5=2¢
Discuss the role of applied sociology in solving of social and
tecanical issues.

Describe the main features of developing countries.

"s-povernance is a process of transformation.” Justify.

Discuss the role of capital and labour to bring change in the
politico-economic system.

Wkat is meant by national integration? Discuss its main bases.

Describa briefly the various issues of gender and ethnic group cf

‘Nepal.

i

L'.—.u "

[— PURBANCHAL UNIVERSITY
20318
B.E. (Computer)/Fourth Semester/ Final
Time: 01:30 hrs.

n rh

Candidates are required to give their answers in therr o
as practicable.

The figures in the margin indicate full marks.

Full Marks: 40/Pzss tlaths: &
| BEG2078H: Applied Sociology (New Course/ e

Group A
Answer TWO questions. e
18 Explain the factors of social and cuitural changs in il
2. What do you mean by development and develepment zlanning:

Explain the features of devsloping covntry.

3. What is national integration? What am= the
influencing national integration? Explain.
Group B

Answer FOUR guestions.

4, Discuss the role of sociological to identifi socia! and tesh
—_—

issues.
What do you mean by the resistence of socio-cvitural changs
Differentiate between e-commerce and e-governance.

Discuss the ethnic issues in the context of Nepal.

@ oo w

What is economy? Discuss its shifting process.

sn
-
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PURBANCHAL UNIVERSITY
20165

" 9,1, (Co aputer)/Fourth Semester/ Final
"imes 01 30 hrs. Full Marks: 40/Pass Marks: 16

Ri"u(_'_JQO IH: Applied Sociology (New.Course)

Candida es are required to give their answers in their own words as far
au pract cable,
The figu, es in the margin indicate full marks.

Group A
fAnswer TWO questions. 2x10=20
1 Dufine sociolo d show its relationship with engineering. ’
"5 Waat is dcvcfopmcnt? Discuss the role of indigenous and

aj propriate technology in development.
3 Waat is political system? Discuss about national building

p1 scess in Nepal.

Group B
Answer 'OUR questions. 4x5=20
4. 1); 1cuss the I,Lndcr iesucs i ths context o { Nepal.

5 Giobalization is "an important process of social transformation.

J1 qufy the statement.
Wat are the conscquenccs of tcchnologlcal changcs in current

Nepalese somcty?

What do you mean by conmct? DISCLISS the impact of conflict in

—_—

nocio-cultural sectors,
., [Explain  the, apphcanon of sociological knowledge in
o in plrmcnmuon ‘of social and technical 1ssuc:?\/
/ — ‘ /
- ~
".“'-l"-.. A Ved P ) !

\,/'\%/

AR I S A

-PURBANCHAL ' UNIVERSITY ¢
2014 (New)

‘B.E. (Computer)/Fourth Semester/ Final
Time: 01:30 hrs. Full Marks: 40/Pass Marks: ;-

BEG207SH: Applied Sociology

NI LEL VPR

Candidates are required to give their answers in their own words as

as practicable.
The figures in the margin indicate full marks.
Group A
Answer TWO questions. 2x 1‘0=;_
1 Explain the application of sociological knowledge

identification of social and technological issues. \ -7

2. Define development. Describe the features of Dev:lop:
/ Countries. . - - -
3.- Explain the historical development of Nepalese sociefy

culture.

Group B

A:n?w,'er FOUR questions. 4x5=1(
Discuss the role of electronic medla in modernization.
Define division of labour. Write about the importance of divie:
of labour in the production and productivity. '

, Describe the features of indigenous and appropriate technolog
Is national integration essential for development of Nep:’

. Discuss.

. 8. Explain the concept of state.

e
6.
7

i}

-

%
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- PURBANCHAL UNIVERSITY
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B.E. (Computer) /Fourth Semester/ Final i
Time: 03:00 hrs. o a8 Full Marks: 80 / Pass Marks 32
BEG275CO: Free Open Source Programming (New Course)

Candldates are required to gzve their answers in their own words as far
as practicable.

All questions carry equal ‘marks. The marks allotted for each sub- questlon
1s specified along its side.

Answer EIGHT questions. 8x10=80

1.

e

Explain the philosophy of FOSS. Explain emerging applications
of FOSS philosophy in various sectors: 4+6
Differentiate between free software, open source software and

proprietary software. What are the strengths and weakness of
FOSS? Explain. 5+5

What is OSS hcensmg'? Explam 1ts types. What are the
etxategms of OSS licensing? - 144+5

_ What is web server? How does a client browser communicate

with the web server? Explain with neat diagram. S

‘What are the tags used for designing an effective web page?

Explain any 4 tags with suitable example in web page design.1+4
Explain the different waye of linking the document in the web
page. S
Create a specimen of your college web page. Divide the browser
into two frames. The frame on the left will be a menu consisting
of hyperlinks. Clicking on any one of these links will lead to a
new page, which must open in the target frame, which is on the
right hand side. ' 5
Create an html form that has the textboxes First Name, Last
Name, Address, Email ID, Pin code. When a form runs, browser
fills the textboxes with data. Write JavaScript code that verifies
that all textboxes have been filled. If a textbox is left empty,
popup an alert indicating which textbox has been left empty.

‘When the alert's ok button is clicked on, set focus to that

specific textbox. If all the textboxes are filled, display a THANK
YOU alert. » 10
- | Contd. ...
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(2) .
What is CSS? How external style sheet can be used to create
dynamic web page? _ _ | S
What are the types of dialog boxes used in JavaScript? Explain.5
Why php is called server side scripting language? Write the pros

and cons of using php. 2+3
Explain the language constructs and functions used in php with
suitable example. | : , S
What is file handling? Explain the reading and writing operation
in files using php. | 1+4
What is cookies and session? Write a program to créate and
destroy a session using php. 1+4
Write short notes on any TWO: 5+5
(@) CURD | |

(b) FTP

(c) Database Connectivity

3
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“PURBANCHAL UNIVERSITY
‘ 2017

B.E. (Computer) /Fourth Semester/Final
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32

BEG275CO: Free Open Source Programming (New Course)

Candidates are required to give their answers in their own words as far
as practicable.
All questions carry equal marks. The marks allotted for each sub-question

_ is specified along its side.
Answer EIGHT questions. ' 8x10=80
5

Write a brief history of free and open source software.

})/ Differentiate between proprietary software and open source

software. 5

2( What are web browsers web servers? Explain how does a
requested page gets displayed on user’s browser. 7

3

Write about FTP, HTTP and HTTE.

\3}{ What is propose of using CSS file? How can you embed a CSC
file into an HTML file? Give examples. 6

(b) Write HTML codes for frames, forms and table. 4

4( Why is JavaScript considered a very powerful language?
: Explain. 4
y/ Write a program to enter a member in a textbox and display its
factorial on another textbox when clicked on a button. Write
necessary JavaScript code to perform necessary data validation

on user input. 6

Define PHP and explain its features. Write a PHP program to

input n numbers in an array and determine the largest number
4+6

5.

in the array in descending order.
6(a) How are functions created in PHP programming? Give examples.5

(b) . Write a - PHP program to input a line of text and copy the

/ contents in a data file in upper case. 5
7. Define SQL. Write the syntax of basic SQL commands with
examples. 2+8

Contd. ...
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(2)

8(a) What is session and cookies? How do you create and destroy &

session? | . 6
(b) Write different types of array with an example in PHP.‘* 4
/ Write short notes on any TWO: | 5+5

(a) Linking documents
\_}b)/ Strengths and weaknesses of FOSS
k)(Xéommercial licence verses open source licence

AN
AN
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—  PURBANCHAL UNIVERSITY

2016
3E. (Computer} /Fourth Semester/ Final
rime: 03:00 hrs. | - Full Marks: 80 /Pass Marks: 32

3EG275C0: Free Open Source Programming (New Course)

il
~andidates are required to give their answers in thezr own words as far

1S pTaCﬂcable

41l questions carry equal marks. The marks allotted for each sub-question
s speaﬁed along its side.

Answer EIGHT questlons. 8x10=80
. What is open source software? Explain it with advantages and
disadvantages. 347

Define “free software?. Is it same as “open source” Can open

(A
.

source software be used for commercial purpose? Explain. 5+5

N
.

What are the major types of open source software licence?
Explain current status of FOSS adoption in Nepal. 6+4

3 Is HTML a necessary for web page development? Justify. Write
HTML code, developing for your college/umver31ty web site

using following features: 3+7
(a) Scrolling (b) List (c) Image
(d) Linking (e) Table (f) Frame

). What are the techniques which make HTML page a dynamic?
Explain CSS with class and DIV tag. . 2+8

. How is JavaScript used in web page development? Explain

- advantages of JavaScript. 4+6

Explain DOM with its significance. Write a program in
JavaScript using form, event and DOM properties.% o\.io +‘? :

(@)  Explain PHP, APACHY and MySQL with its current version. 7

(b) Differentiate between session and cookies. 3

Contd. ...
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(2)

Explain different arrays used is PHP with an example.

5

Write a program in PHP to display factorial of a given number. 5

Write short notes on any TWO:

{(a) Database connectivity
(b) GET and Post method
{c) Error Handling.

i
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B PURBANCHAL UNIVERSITY
\ 2016

B.E. (Computer)/Fourth Semester/ Final

Time: 03:00 hrs.

BEG275CO0: Free Open Source Prog

Full Marks: 80 /Pass Marks: 32
ramming (New Course)

Candidates are required to give their answers in their own words gs Sar
as practicable. ;

All questions carry equal
is specified along its side,
Answer EIGHT questions, 2 8x10=80
1(a)” What is Web Technology? Briefly explain the Communication '

Architecture in an Internet,

marks. The marks allotted Jor each sub-question

S

\/(h( Explain commercial License versus Open source license. S ,
2(a) —~What is Free Open Source Programming? Compare Free open

source Software with Proprietary software. 6

What are Domain Registration and Web Hosting? How :
bandwidth is managed to run a website smoothly?

NUNE S -—

(b)

4

L TR P
s

3. What is a HTML FORM .in a Web Page? List out the elements
: used in FORMS with Syntax. Design a REGISTRATION FORM
for a Student. The form should contain First Name, Middle ;
Name, Last Name, Genc.i’ér, Country, Pﬁone_ Number, Mobile
Number, Email Address, Remark and Submit Button. \1V
4(a) What is Dynamic HTML? Explain various way of including CSS
" in HTML with an example. 7
bV Explain the LIST Tags in HTML. 3

\V What is Java-script? Explain different dialog boxes used in
’ JavaScript with Syntax. Write a program to validate

an email
address using JavaScript. . '

10
@ Define PHP Programming. Explain Cookies in PHP with syntax:

Write a PHP program using Cookies for user login system. 10

Contd. ...
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(2) \
Write the different file opening modes in PHP. Write a program

to open an existing file, append a strmg into a file and display
the content in a Web Page. . 2+3

Write a program to store 10 numbers in an array. Sort the
number in ascending order and display the numbers in a Web
Page. _ S

Explain MYSQL database. Write a PHP function to connecting
database with necessary parameter. 4

Write an SQL-query for selecting student name that lives in

Kathmandu. 3
Write an SQL-query for selecting all female students whose
name start with 'S'. _ _ 3
Roll No. Name | Gender Address

1] Shiva Male Biratnagar

2 Sarita | Female | Kathmandu

3 Sangita | Female | Bhaktapur

4 Sanjay Male | Kathmandu

Write short notes on any TWO: 5+5
(a) Error handling inJ avaScnipt

(b) Session Variable in PHP -

(c) History of FOSS

#

Scanne d with CamScanner



B.E. (Computer)/Fourth Semester/ Final

'IIS‘une 03:00 hrs. ‘ Full Marks: 80 /Pass Marks: 32
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- PURBANCHAL UNIVERSITY
2015

All questions carry equal marks.

Answer EIGHT questions. 8 x 10 =80
Ual  What is FOSP? Explain the advantages and disadvantages of FOSP. V

(b) Explain commercial License versus Open source license. g

What is PROTOCOL? Explain about FTP, TCP and IP with

- necessary diagrams? — S

(b) What do you mean by 404 errors in web server? How bandwidth

“7 is managed to run a website smoothly? 5

3(a) Explain various List Tags used in HTML and Write an example

of each list tag. . A5

(b)h. How document is linked in HTHI1> Explain the types of Iinking

L _documents with their example in HTML. N—"5

= _ L

<,Jhl—-

e

7.

8(a)

What is the role of CSS for making a beautiful and eye-catching

Web Pages. . \;/
example. ' r\k//s =
Differentiate between Java and JavaScript. List out the
advantages of JavaScript.‘ R \'\_:/
Write a’ program to display digital clock in a web-page using
JavaScript and HTML.
Define PHP Progmmmmg.‘ Explain Session in PHP with syntax.
Write a PHP program using Session for user login systen@éj:ﬁ*
Write the different file opening modes in PHP. Writ;e a program
to READ the content of a file “source.txt” and copy its content

U1 1

-

and paste it into another file”destination. txt™. » 3+1 e
Explain MYSQL database. Write a PHP function for connec ting
database with necessary parameter. e t. N

~

& Contd, ...
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(2)

~ (b) rite an SOQL-query for selecting student name whose namf
Y starts with ‘8’ and having five characters. , 2.5
() Write an SQL-query for selecting all female students whose
/:ame end with ‘a’. | ' 2.5
h ( Roil No Name , Gender
& 1 Shiva | Male |
4 . T 2 Sarita ' | Fémale -
) T 3 | Sangita _ ' | Female
\ 4 Sanjay ' | Male

- 9(a) Write a necessary code for content management System (CMS)
-~ of a student. An Authorized person can insert student’s
" information, can view, can edit arid can delete the student
record. CREATE a table ‘tbl_ student’ in database ‘db_college’. 10

10. Write short notes on any TWO: : 2x5=10
(a) Domain Registration
\Wrror' handling in javaScript
(c) Array in PHP

AAA
A
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Time:

BEG2-5CO: Free Open Source Programming

PURBANCHAL UNIVERSITY-
2014 (New)

T ERIE R I NN

+.3:00 hrs. Full Marks: 80 /Pass Marks: 32

Candicates are required to give their answers in their own words as far
as practicable.

All questions carry equal marks.

Answer TEN questions.

1.
s

2.

3/

4(a)

(
b
o

Vhat is FOSS? Free software and open source are two parties of
he same community. Explain. 2+6

‘What is open standard and open content? Differentiate between
spen source software and proprietary software.

“ist-the benefits and shortcomings of FOSS. What is open
software licensing. Explain the OSS licensing strategies.

Compare web browser and web server.
ransaction with the suitable figure.

Explain HTTP

N

PURBANCHAL UNIVERSITY i
2014 (New) i

B.E. (Computer)/Fourth Semester/Chance !
Time: 03:00 hrs.
BEG275CO0: Free Open Source Programming

Full Marks: 80 /Pass Marks: 32 |

35

Do

Vhat is HTML? Write HTML code to generate output as shi)lW\le/|
. +2 '

Candidates are required to give their answers in their own words as for
as practicable.

All questions carry equal marks.

Answer TEN questions.

o

N

v

Define FOSP. Write down the importance and application of
FOSP. 3+5

Explain commercial License versus Open source license. List out

the Types of licensing. - - N —
Briefly explain about the communication between Web Searver
and Web Browser. What are the differences between HTTP and
HTTPS? 6+2

Explain cell padding and cell spacing attribute in a table. Write
a HTML code to generate the following OQutput. 2+9

"S. No

Subject

Internal Marks System | l
1

Theory

Practical

1Fina.1 Exan

1

FOSP

20

50 | 80

W

N

Define DHTML. What is the role Cascaded style sheet for making
a beautiful and Eye-catching Web Pages with a program (wnte

oelow.
‘ MARKSHEET
" "SUBJECT MARKS
INTERNAL ~ EXTERNAL
THEORY | PRACTICAL | THEORY | PRACTICAL
. FOSP [20 50 80 -

=
™

Write HTML code to create the form as shown below

L

First Name l

Last Name | ) ]

Address | T | -

Date Day Month Year

Gender O Male O Female A
Submit Clear

“Contd. ...

CSS code for HTML tags)?

2-0A

Differentiate between java and JavaScrip/ List out the
advantages of JavaScript. Explain the different dialog boxes
used in JavaScript with their syntax? 2+2+4

Write a program to validate the email address using JavaScript

also write a function to validate the form elements like name,
address, email, gender etc. 4+4

Define PHP. Write a Program in PHP for finding out the greatest

and smallest no among the three numbers contained in three
php variables." -

~

AT
3+

“'Q Contd. ...
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(=)

“write the different file opening modes in PHP. Write a program

CREATE a file “student.docx”. insert the text and display
244+2

contains of a file in a web page.
fine MYSQL database. Write a PHP functlon for connecting
datzbase with necessary parameter. Write a program and

ssary query for displaying the-content of a database table
intc 2 web browser. 2+2+4
Write short notes on any TWO: 2x4=8

iz) SGL Query
y ession in PHP

(¢} Li
—

sting tags in HTML

Hi

\ 8

\ (2)

(D} - Write -HTML- 128 to insest image in.web.page.. How javascr,
implemented in HTML. .
What are the different dialog boxes used injavascript? £ Pl

(b) Write javascript code for the vahdahon of name and addiess |

/ phone number. \

/@\Vnte the program in javascript to chsplay the factona: o

number. ha
(b) What is php? Write php code to create, open, delete and up.

the file. o

e

Why php is called server side scripting language? Write the
and cons of using php. v '
(b) Explain different array used in php with examples.

(a) rite the program in php t} list the multiple of 2.

(b) What is language construct and functions? Write the syt
implement php in web page. '
. Wn&c the syntax to cnnncct databasc with mysql using pup.
(b) -What is cookies and sessmn? Wnte the program to create
delete cookies using php. ™

@nte the mysql queries for: M

creating a mysql table named COLLEGE

6(a)

- Consisting of field college-id, name, address, phone numbe

- Insert data into table
ZSelect all from the table
Write short notes on {any TWO)
(a) Image map
S (Cascading Style Sheets)
) OSS philosophy

d) proprietary software

11,

1
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B

BEG232EC: Communication Systems (New Course) |

Candidates are required to give their answers in their own words as far
as practicable.

All questions carry equal marks.

Answer EIGHT questions. 8x10=80
1'., What is power signal? Prove the Parseval's Theorem for power
signal. 2+8

2(a) Draw block diagram of analog communication system. Explain
“~  each block briefly. 4+4
(b) Define modulation. 2

3. A carrier signal c(t)=20cos2A x102V is amplitude modulated by
by a modulating signal m(t)=6co0s2Ax108 V. Find modulation
index, percent of modulation, required bandwidth and
transmission power of the resultant AM wave. 2.5+2.5+2.5+2.5.

4.  Explain about methods of generation of FM signal with block

diagram. 10
5. An FM signal is represented by the following: 242+2+2+2
“  S(t)=10Cos(2Ax106t+5 Sin2Ax10%t). Calculate:
(i) Carrier frequency
(ii) Message frequency
(iii) Production index
’ (iv) Frequency deviéﬁbn
(v} Power dissipated in 100Q resistor
.. Explain about PCM system with block diagram. 10
.’ Represent the following data in unipolar, polar ,bipolar &

- Manchester format: | 2.5+2.5+2.5+2.5
10010011 ' |

Contd. ...
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8(a)

(b)

O

{2) _
What do you mean by multiplexing? Explain about FDM with

- 2+6
diagram.
State Carlson's rule for FM wave. ' 2
Write short notes on any TWO: 2x5=10

(a) Need of modulation
(b) DBS-SC modulation

(c) Optical fiber communication

A
o
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1l 2017
-| B.E. (Computer)/Fourth Semester/ Final ,
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32

BEG232EC: Communication Systems (New Course)

Candidates are reguired to give their answers in their own words as far
as practicable.

All questions carry equal marks.

Answer EIGHT questions.

1. What is energy signal and power signal? State and prove the
energy Parseval’s theorem. 10

2(a) A carrier signal c(t)=10cos 2A x103t V is amplitude modulated by
by a modulating signal m(t)=6cos2Ax107t v. Find modulation
index, percent of modulation, required bandwidth and

transmission power of the resultant AM wave. 6
q

8x10=80

Py What are need for modulation? Explain briefly.

3(a) Derive the expression for time domain representation of single

tone modulated FM. 4

(b) A signal tone FM is represented by the voltage equation. 2+2+2
v(t) = 12 cos (6x108t+5 sin 1250t).
- Determine the following:
(i) carrier frequency  (ii) modulating frequency
(iii) modulation index
‘/fl{é) Define ASK, PSK, FSK. Explain each briefly. ' ' 8
7.

(b) State Carlson'’s rule for FM wave.
(_5/- Draw the general block diagram of a digital communication

system and explain each block in detail. 10

6]~ Explain pulse code modulation. 6
(b)  State and prove Nyquist sampling theorem. 4
7(a) Explain about Shannon’s channel capacity theorem. 5

(b)~ What do you mean by multiplexing? Explain about TDM and
FDM. 5

Scanne d with CamScanner




(2)
§a}/ Explain single side band modulation with necessary diagram. ©

() What do you mean by ISI? 4
9. Write short notes on any TWO: ,_ 2x5=10
(a) PAM

Optical fiber communication
(c) Vestigeal side band modulation

S
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me: 03:00 hrs. Full Marks: 80 /Pass Marks: 32

;EGZ32EC Communication Systems (New Course)

~andidates are required to give their answers in their own words as far

\Il questions carry equal marks. 4
\nswer EIGHT questions. . 5x16=80
(a) Describe the general communication system with the help of
block diagram. 6
(b) Derive the Parseval’s theorem for energy signal. 4
(a) Explain the various types of noise that.occur in communication
system. A : . S
(b) Why modulation is required for signal transmission? 5
i(a) Explain the detection procedure for DSB-SC. S

(b) Describe how FM wave can be generated from PM wave and vice
versa. ) ’ _ S5

(a) Define the Carson’s role for FM bandwidth. An\FM wave
modulated to a depth of 8, gencrates a BW of 180KHz.\ Find the

S aA

frequency deviation. S
(b} How does PPL work? Explain with necessary figures. 5

(@) A carrier signal c(t) = 10 cos2nx10%t is amplitude modulation by
modulating signal m(t) = 5 cos2nx102t. Find modulation index,
percentage modulation, required bandwidth and transmission
power of resultant AM wave. S

(b)v Discuss the advantages and disadvantages of digital
C0mmunication system over analog communication system. S

(@) State and explain the sampling theorem.- Descnbe _aliasing
effect, , .5

~ Explain T1 hierarchy in digital telephony in detail. 5

Contd. ...
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\()

(2)

Expiain about GSM architecture with necessary diagram
What are the advantages of optical fiber communication?
Explain the detail about PCM.

Define informaton theory and explain different types
coding schemes.

I

Write short notes on_anv-EQUR

{(a} Threshold effect in AM
{b] FDM

-3

Z / = O/g\i moﬁ
R
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Candidates are required to give their answers in their own words as far
as practicable.

All questions carry equal marks.

Answer FIVE questions, 5716=80
1(a) Draw the basic block diagram of an analog communication
system and explain the function of each block. 5

(b) Define electrical noise. What are its types? Explain. 2
2(a) With a neat diagram, explain the generation method for DSB-SC
signals using Balance Modulator. . g

S s

(b) An amplitude modulated signal is represented as:
V(t)= 10(1+0.4 cos 22%103t) cos 2n%10%t

Idcntify. what type of amplitude modulation it is, and find: (i)
modulating and carrier frequencies, (ii) modulation index, (iii)
required bandwidth, (iv) total power to transmit. a3

3(a) Show that PLL can be uszed as FM demodulator with neat block
diagram. Also point out its important merits. 8

(b) A single tone FM is represented by the voltage equation as:
V(t)= 12 cos (610745 sin 1250 t). Determine: (i) carrier and
modulating frecjucncicaz (ii) modulation index, (iii) maximum
deviation and carrier swing, (iv) power dissipation by FM in 150
resgistor. 8

4(z) What is modulation? Why is it needed? Describe any one

method of demodulation of AM signals. 3
(b) State and explzin Shannon’s channel capacity theorem. 3
B )
{(cj Explain about PSK transmitter and receiver with necessary
diagram. 5
| Contd, ...
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| (2)
5(a)

What is multiplexing? Explain the bas1c prmcxple of frequency
division multiplexing. 3
(b) Draw the neat block d1agram of opt1ca1 ﬁber commumcatlon
system and explain each block in brief. 8
6 Wtite short notes on any FOUR: 4x4=16
() Multiple Access Techniques ,
(b) PCM |
() FM vs AM
(d) Parseval's theorem

(¢) Communication system in Nepal: Present Scenario

AN
AN
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BEG2‘ 2EC: Communication Systems (New cgurse}/ Pass Marks: 32
Candic ates are required to give their ansu. [ 1

as pra: ticable. ers in their own w

All guestions carry equal marks.

ords as far

ar FIVE questi "
Answer questions 5x16 = 80

J@_ the general block diagram for digital co icati
cystem and explain each block in brief. W

b)- State and explain Parserval's Theorern for power _Ls%s@ 5 «
fcl I'xplain the need for_mod_i:l_fation @ 4

2(33, Explain square law detection method for DSB-AM signals_@ e'.-

- Nr - -
(b ~1;2e total power content of an AM signal is 1000W. Determine
t }e power being transmitted at the carrier frequency and at each
¢ "the sidebands when the percent modulation is 100%. W@ 6

’E)/ Compare NBFM and WBFM. 4

i{a) .Explain with ‘necessary diagram about Armstrong method for
t' e generation of FM signal. (D ' coLtE 7
—_—

(b} Tie maximum deviation allowed in an FM broadcast system is
7. KHZ. If the modulating signal is a single-tone sinusoid of 8
KA4Z, determine the bandwidth of FM signal. What will be the

bandwidth when modulating signal amplitude is doubled? 6

lc)] State Nyquisw eor’em_ \W
M‘p!m’n the bL principle of Analog-to-Digital conversion. 7
b)  How quantization error is introduced in PCM system? Explain. 5

) Drfine information and entropy.

COohareat binmrm AS & o
Lﬂuﬂrc ASK, FSK and PSK. 6
| What is multiplexing? WDM in Tele ierarch
E phony hierarchy,.
! - Pont out some special features of TDMA. ) 3

Contd. ...

g =

PURBANCHAL UNIVERSITY |

) 2014 (Mew) '

B.E. (Computer)/Fourth Semester/ Final o
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32 5
BEG232EC: Communication Systems |

Candidates are require& to give their answers in their own words as for
as practicable.

All questions carry equal marks.
Answer EIGHT questions.

Wiscnss the general block diagram of Wn system in
. ()

7v_de '
(b) Explain the need of moduIation@ / 3
2(a) How can we produce DSB-AM signal? Explain any one method. 6
- —
How does PLL works? Explain with necessary figures. 4
_— . -
3(a) AM broadcast radio transfer radiates 10kW of power if the
\/ILdulaﬁon percentage is 60. Calculate how much of this is ths
carrier power. ’ . 4
(b) Explain limiter-discriminator method for demodulation of FM
Signal. : 5}
4(a) What is Carlson's rule? Derive the bandwidth for FM wave.
< Differentiate NBFM and WBFM. ' 3

{b) A signal tone FM is represented as:
V(t)=12cos(6x108t+5sin1250t) v

Determine:
(i) Carrier frequency ( it-)

(v) Powér dissipation by FM in 10Q resistor (P) =
S5(a
? PCM system with necessary block diagram.

S
(1) Modulating frequencykgm)
(iii) The modulating index (my) (iv) Maximum deviation(&.{’;}_,)d )

With the concept of companding, explain the basic principles of

-
o
<

(b) What are line coding schemes for Baseband communicaton

system? Explain with necessary figures and examples.

=
.}

Contd, _..
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(W

(2)

Zzplain the basic principle of FDM Syster%/ 3

i"\TL o=

hat are the advantages of optical fiber communication?
Explain in detail. 7

What is Shift
vith the neécessary diagram.

ing? Explain about QPSK transmitter along
__r————f

S
Explain the basic structure of mobile communication system. 5

Give your view on Information Theory. Also explain about source

entropy and information rate. S

Yhat are the various forms of noise encountered in
communication system? Explain. 5

e short notes on any TWO: 5+5

(LISl

)

arseval's Theorem for energy signal

A
ey

f

6(a)

{2)
Write short notes on any FOUR:

(i Optical fiber communication system

(ii) PAM

(i) Electrical noise and its types.

(iv) Types and properties of system
ﬁLCommunication system in Nepal

A
-~
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B.E.(Computer)/Fourth Semester/ Final
Time: 03:00 hrs. Full Marks: 80 /Pass Marks: 32

BEG274CO: Discrete Structure (New Course)

Candidates are required to give thetr answers in their own words as far
as practicable..

All questions carry equal marks. The marks allotted for each subquestzon
is specified along its side.

Answer EIGHT questions.

1(a) State pigeonhole principle. Find the minimum number of

students in a class to be sure that four out of them are horn in
5

8x10=80

the same month.

A collection of 10 electric bulbs contain 3 defective ones. (i) In
how many ways can a sample of four bulbs be selected? (ii} In
how many ways.can a sample of four bulbs be selected which
contain 2 good bulbs and 2 defective one? ’ S

2(a). What do you mean by valid argument? Prove the validity of the
argument. "If the market is free then there is no inflation. If
there is no inflation then there are price controls. Since there
are price controls therefore the market is free." 1+6

3

(b) Describe the law of modes ponen with example.
—

Consider the DFA M defined by the following next-state table. 6
Find the input smbols of M. the state set of M. thc 1n1t1a1
state of M and accepting state of M.

(i) Draw the state diagram of M.
&

I| a b | c

3(a)
)

S

So S1 |So |S2
S1 S0 [Ss]So
SQ S3 Sa2 SO

@ S;: - S So | S)

(b) Givea formal definition of a regular expressmn and grammar. 4
- Contd. .

A
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) s
4(a) Let A={1, 2, 3,.4} for the relation R whose matn}'i is ng?tI; 11’15
«  the mat. ix of transitive closure by using warshall's algortnim.

(b) Define partiﬁori set with an example. 2

(c) Let R be a relation from A to B and let S and
<~ B to C. Prove or disprove.

(SUT)oR=(SoR)U(ToR)
\/5(3) What do you mean by generating function? Give example.

T be relations from
3

3

(b) Solve the recurrence relation: d,, —2a,,+a,=2" gven that

. a,=2 and a, =1. . _ 7

6( Let R= {(1,2),(2,3),(3,1)} and A= {1,2,3}. Find reflexive. symmetric
and transitive closure of R. using composition relation of R. 5

(o) Prove that if a and b are two positive integers, then

ged(a,b)xlcm(a,b)=ab. 5
._-_-—-———-’- .
/(a) Prove by mathematical induction that 1242243 - -
’

=@m+1)@2n+1)/6. DI hH) X0 5
[

(b) Define Euler circuit and path. Give an example of graph which
is Euler circuit. o ' - * 5

8(a) Define tautology, contradiction and contingency. Show that the

<  statement ~(peq)=((PA~q)V(gA~p)) is tautology. 3+4
(b) Define universal quantifier and existential quantifier. 3
9. Write short notes on any TWO:
’ Laead® 5+5
(i) DNF and CNF « it Hamiltonian circuit )
: (iii) Transport network

3
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B.E.(Computer)/Fourth Semester/ Final !
Time: 03:00 hrs, Full Marks: 80 /Pass Marks. 32

BEG274CO0: Discrete Structure {Neww Course)

Candidates are required to give their answers in their own words as far
as practicable. .

All questions carry equal marks. The marks allofted for each sub-question
1S specified along 7= side.

Answer EIGHT questions. 8x10=80

y«’ Use Warshall's Algorithm to find the transitive closure of the
relation R on a set A = [1,2,3,4] where R = (1, 1), (1, 3}, (2.3),
(2,4}, (3,2), (3.3), {4,1)). p

(b) , Suppose that the relation R on a set is represented by the

/ h 1 0
matrix Mg = |y ; ;.. Is R reflexive, symmetric, and/or

0 11
3

antisvmmetnc?

2. - State the contra-positive and converse 3tatcmcr.\t ‘of thc‘folh)‘.\dn{z
L~ statement: “If the triangle is equilateral then it is equiangular”.
Show that the statement ((p — g)JAlg < 1)) = (p — 1) is tautology and

obtain the principle disjunctive normal form of (~p— r)A(qep). 2+4+4

3(a) Determine whether the given graph has Hamilton circuit. If it
does, find such z circuit. 244

?
br— —
| 0 4( \ \\2

\/ 27
A

§
QA{, fgt

Fe !

49

(b) Define the following graph with example (any TWO}: 2472
Mcgular graph (ii) Comg@tc graph (iii) Bipartite graph

Contd. ...
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(2)
4{a) Define generating functions. List out their areas of application. 2+2
(b) - Solve the recurrence relation: 6
Fn=5Fn.1 — 6Fn-2 where
Fo=1 and F1=4.

S(a)/ State multiplication principle of counting. In how many ways
can 7 women be seated in a row if : 2+5

(i} any persch may sit next to any other?
(i) men and women must occupy alternate seat?.

(bY Define composition of relation with an example. 3

y If R be a relation on a set of integers Z defined by R =
' {(x,y):x,yeZ,(x,y)is divisible by 6}. Then prove that R is an
equivalence relation. 5

Let R= {1,1),(2,1),(3,2),(4,3)} be a relation on a set A = {1,2,3,4}.

Find the powers R», n>1. S
”\7/ Define mathematical induction. Prove that the statement given
below is true using mathematical induction: 1+4

D585 e . n*(n+1)*

4

' \9/ Define walk, path and cycle with examples. | -5
8(a) Give the formal definition of regular expression and grammar. 4
(b) Describe finite state automata with an example. 6
(/9@) Describe the Euler circuit and path with example. 5
(i) Write short notes on: 2.5+2.5

(1) Fibonacci member (ii) Logical equivalent

10.  Prove the validity of the following argument If I get the j